IR AR

Bk —HEARE 107 2F5F ALHE A5 RNAEK

% A Z'J ERHEEINTIEZ wa B ERsa
= FHREE 2212 = #H:HEHAES
AEFE:
I EZH—BFTERARRBLIETFHES FARBERAEHER 53
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1. F 7|94 B & 48 91 A% iR R 48 3842 (shortest path) F] & 48 B 7
(A)Linked List (B) Tree (C) Graph (D) Stack
2. FHAMETHERERARESLBRARAR ?
(A)Linked List (B) Tree (C) Graph (D) Stack
3. Heapsort eyt B E AT 7
(A)O(n) (B)O(’)  (C)O(logn) (D) O(nlogn)
4. XEEX{E A% F(postorder)ix&7~4 "TA B / C D +*  BIEBEXLEANA
(preorder)i: & 5w JE AT 7
A / A B + * C
@ * + /1 A B C
© 7/ A B * + C
@ * / A B + C
ERASEHEBX-_AHER ETHEIBREEFLEERRNIR?
(A)3 (B)4 (©O)5 (D)o
6. THWEBRFTHEZBIHEAREALOERAFZIE2SF?
(A)Om’logn)  (B)O@!) (C)OB" (D) Om'™)
7. BATF #idifr & EAE?
(A)B-tree & —#Z Binary tree (B) Binary tree & —#& B-tree
(C) AVL-tree & —#& Binary tree (D) Binary tree & —#& AVL-tree
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8. # list Z mfAF#u#& a0~a3 KA & 27, 86, 35,25 » & LSD Radix-10 # X E3E 3 5 R 32 >
BF—fApass REBR > AF aRABEAMT?
(A)25 (B)27 (C)35 (D)86
9. Quick sort R FHEN NI BEFEE R IIIRBEFE?
(A) REFHNPIHF A (B) REFMIMNIMEFHEF %
(C) BSEN N ILLEENIEHFE (D) REBENNIELRFEN I BT E
10. 4+#f 20 F % graph &4 » 2 20 V) A #2254 A BFS(Breadth first search) 7 X #f A7 & node i&
ATHE—K% > B|FF—1 8 node ZFHIEF L VI Z AT —AL?
(A)V2 (B)Vs (C)Vsa (D)Vs

o e L+ [z [ma]
: 1 -Gl > Lafm]
: ol 3~ G T [elw]
2 AT == 7 1m]
' I =+ [e]m]
s Rl [rless]
¢ 1 = ]

. G == ]

()BEM(BR=n £45%)
FaTASESEHUTRR BRARBEEETRALZEEURNT - TRALRRA
HKERTFHD)

11 12 | 13 | 14 | 15

1. F #4754 & A &4 4 PCB(Process Control Block) ¥ 324k 7
(A) CPU registers (B) I/O status information (C) process state (D) execution stack
2. Time sharing &5/ ¥ 4 4 X & F — £ £ 4 Multiprogramming 3% 3% ¥ & 4/E ?
A — %% (B) &F% O Fx—=x%
3. LA F 94 CPU scheduling algorithm % average waiting time & 2% ?
(A) First-Come-First-Served (B) Round-Robin
(C) Shortest-Remaining-Time-First (D) Shortest-Job-First
4. 4= Running f#k #& % process & 7T #& ¥ 3 F N\ T 7|/74& state ?
(A)New (B)Ready (C)Terminated (D) Waiting

$28 0 o34 E (%% )
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5. AT #R4E CPU scheduling #% %1 2% 7 7 =T £ A & #4 ) 32 7/ 1% degree of
multiprogramming ?
(A) FCFS (B) medium term scheduler (C) long-term scheduler (D) Optimal
6. T 7|7 #&CPUHEHE & R & £ 4 g9non-preemptive;k B| » 72 A preemptivez :E I ?
(A) Priority (B) Round-Robin
(C) First-Come-First-Served (D) Shortest-Job-First
7. AT {4 % critical section % EZEAEA F % 7 (f83% semaphore #! %] % 2 mutex & 4 1)
(A)signal(mutex) (B)wait(mutex) (C)wait(mutex) (D)signal(mutex)
critical section critical section critical section critical section
signal(mutex) wait(mutex) signal(mutex) wait(mutex)
8. Reader-peer 4y readers-writers problem ¥ 4o % # — reader iF 4 77 B share object B £ #3744
readers $£2 writers ¥ % 1% i share object ?
(A) reader £ writer 34 <] {& (B) reader £2 writer 34 R < 1£ A
(C) reader 7T{£ A - writer 2] {& A (D) reader X T {& A > writer =] 1% f
9..AF {77 # B % priori information ?
(A) deadlock detection (B) deadlock avoidance
(C) deadlock ignoring (D) deadlock prevention
10. EL R 2 %hE R safestate > Al A A FHZE R THE B ALY state ZAHE ?
(A) deadlock (B) safe (C) unsafe
11.F 3|*%f4& page replacement algorithm ;2 & Belady‘s anomaly?
(A) LRU (B) FIFO (C) Second-chance (D) Working-set
12. 54 ¥ page table 15 A 893218 £ ] R & K K - paging system 4% Fi K page £ %% & /] page
BT ?
(A) K page (B) /page (C) mEFzRAE (D) dFHAEAYLBEMELE MG
13. % paging system % memory access time 2 100 s, associate lookup time 2 20ns, %t 4 %
memory Z effect access time & 140ns » 3| Hitratio B & % ) ?
(A)0.6 (B)0.7 (C)0.8 (D)0.9
14. Three-level paging 2RF ERRBEMN >  RETAFEREIZBRAER?
(A)2(B)3(C)4(D)5
15. ATFAXESRHZA%4KE » FRHE ¥ A %18 process & & # deadlock #k £ ?
(A)OB)1(C)2(D)3

Allocation Request Available
ABC ABC ABC
PO 212 130 000

Pl 100 000
P2 310 101
P3 010 100
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3. {F3F £ & P circular wait B 28 ? (3%) %of7 7] LA % % 4 circular wait 7 (2%)

O}

ZEBABERET c TEAAREKLERTHA)

3 £ (Stack) 2 i K AR B 4E BT ? (4%) 4735 stack underflow? (1%)

K60 B-tree 9 BHEE £ ? (5%)
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